
Production Basics, Inc.     Massachusetts, USA     800.318.2770     617.926.8100      Fax: 617.926.8010      www.pbasics.com

A S S E M B L Y  M A N U A L

ASSEMBLY VIDEOS AVAILABLE ON-LINE http://video.pbasics.com 

Back

Front

Modesty Panel Mount

ACCESSORIES 

1.	 Attach Modesty Panel Mount to the one side of the RTW 
Modesty Panel on the inside and lightly secure using 
bolts, washers and kep nuts. 

2.	 Slide assembly on back of RTW Table until the Modesty 
Panel Mount is flush against the RTW leg tube.

3.	 Attach other Modesty Panel Mount to opposite side 
of Modesty Panel while in place. Slide Modesty Panel 
Assembly up until top flange touches the RTW Support 
Rail.  Tighten all hardware. 

4.	 For 60” wide tables and wider, insert a Tek screw into 
center of RTW Modesty Panel and then into Support Rail 
from underneath the workbench to secure panel to RTW.

RTW MODESTY PANEL
Item Numbers 8750, 8751, 8752, 8753

PARTS AND HARDWARE QUANTITY

Modesty Panel 1

Modesty Panel Mount 2

1/4-20 x 1/2 Bolts 4

1/4-20 Kep Nuts 4

1/4” Flat Washer 4

#8 Tek Screw- 1/2” 1

Other Items Needed (not included)

Phillips head drill or screwdriver 1

5/32 Hex Wrench 1

7/16 open end wrench 1

Step 1

Steps 2-3


